Problem Solving from Saxon Math 8/7

1. Marsha started the 1024 meter race, ran half the distance to the finish line, and handed the baton to Greg. Greg ran half the remaining distance and handed off to Alice, who ran half the remaining distance. How far from the finish line did Alice stop? If the team continues this pattern, how many more runners will they need in order to cross the finish line? 

2. The Smiths traveled the 60 mile road to town at 60mph. The traffic was heavy on the return trip, and they averaged just 30mph. What was their average speed for the round trip? 

3. The product of 10 * 10 * 10 is 1000. Find three prime numbers whose product is 1001. 

4. Tom reads 5 pages in 4 minutes, and Jerry reads 4 pages in 5 minutes. If they both begin reading 200 page books at the same time, then Tom will finish how many minutes before Jerry? 

5. Bry has three different shirts and three different ties he can wear with each shirt. How many different shirt-tie combinations can Bry wear? If the shirts are designated A,B, and C, and the ties are 1,2,and 3, one combination is A1. List all the possible combinations. 

6. Sarita rode the Whirling Dervish at the fair. The cylindrical chamber spins, forcing riders against the wall while the floor drops away. If the chamber is 30 feet in diameter, and it spins around 30 times during a ride, how far do the riders travel? Do the riders travel more or less than ½ mile? 

7. Find the missing fraction: 5/6 * 3/10 *16/3 * ? = 1 

8. Emily earned an A, a B, and a C on tests in math, science, and history, although the A was not in math, the B was not in science, and the C was not in history. If the lowest grade was not in math, what test grade did Emily earn in each subject? 

9. Find the next three numbers in this sequence: 1,1,2,3,5,8,13, … 

10. There are three numbers whose sum is 180. The second number is twice the first number, and the third number is three times the first number. Find the three numbers. ( Try guess and check; then try writing an equation. ) 

11. Michelle’s grandfather taught her this method for converting from degrees Celsius to degrees Fahrenheit: “ Double the Celsius temperature, subtract 10%; then add 32 degrees.” Use this method to convert 20 degrees Celsius to degrees Fahrenheit. 

12. At three o’clock the hands of a clock form a 90 degree angle. What angle is formed by the hands of a clock two hours after three o’clock ? 

13. Carpeting is sold by the square yard. If carpet is priced at $25 per square yard ( including tax and installation ) how much would it cost to carpet a classroom that is 36 feet long and 36 feet wide ? 

14. Mariabella was ¼ of the way through her book. Twenty pages later she was 1/3 of the way through her book. When she was ¾ of the way through the book, how many pages will she have to read to finish the book ? 

15. The sum of two numbers is 17, and their product is 60. Use guess and check to find the two numbers. 

Answers:

1. After Alice, 128 meters remain. If the pattern continues, the batons will get closer to, but will not cross the finish line. 

2. The trip to town took one hour. The return trip took two hours. The round trip was 120 miles. So we have 120 miles / 3 hours = 40mph. 

3. 7 , 11 , 13 

4. 90 minutes 

5. 9 combinations A1, A2, A3, B1, B2, B3, C1, C2, C3 

6. Riders travel about 2826 feet, which is more than ½ mile. 

7. ¾ 

8. We see that the B must be in math, That means that the A must be in history, and the C in science. 

9. 21 , 34 , 55 

10. n + 2n + 3n = 180 n = 30 2n = 60 3n = 90 

11. 68 degrees Fahrenheit 

12. 150 degrees 

13. $ 3600 

14. 60 pages When Mariabella read 20 pages, she advanced from ¼ ( 3/12 ) to 1/3 ( 4/12 ) of the way through the book. Therefore, 20 pages are 1/12 of the book. 

15. 5 and 12

